
Yokogawa Electric Corporation

DAQSTATION   DX100P

Model   DX102P,DX104P
DX106P,DX112P

Copyright Nov. 2001(YK).5.1th Edition:Jan.2007 (YK)

Parts   List
Maintenance
Customer

CMPL  DX100P-01E

TAG  NO. TAG  NO. TAG  NO. TAG  NO. TAG  NO. TAG  NO.

172608

C

US
R

N200

Made in China

MODEL SUFFIX NO.

STYLE

Note:
     Parts  marked  with  a      symbol  are  Customer  Maintenance  Parts  (CMP).

The contents of this CMPL are subject to change without prior notice as a result
of continuing improvements to the instrument's performance and functions.



2
Complete  Set

Nov. 2004CMPL  DX100P-01E

8

7

7 10 11

6

5

1 2 3 4

12

9

CMPL Parts

Note:

2 (select)

(select)(see page 5)

Sheet (not /H5   )

Sheet (not /H5   )

Fuse (not /P1)
Fuse Holder

Bezel Assembly (not /KB1,/KB2)
B.H.Screw,M3x8
Tag Plate (DX106P,112P)
Tag Plate (DX102P,104P)

2

4

1
1

1
2
1
1

B9968AK

B9968AT

A1347EF

B8702DU

Bezel Assembly (/KB1,/KB2)1B8702DP

Y9308LB
B9967AP
B9967AN

8

7

6
5

4
3

QtyPart No.
B9967AM

Item
1 Tag Cover

Description
1

9 B9967AX 1 Packing
10 B9900BP - Tag Plate
11 B9967AZ 1 Name Plate
12 B9967AC 1 Name Plate

   -

A1352EF 1 Fuse (/P1) (select)

TAG  NO. TAG  NO. TAG  NO. TAG  NO. TAG  NO. TAG  NO.

172608

C

US
R

N200

Made in China

MODEL SUFFIX NO.

STYLE

Do not remove the front panel. Repair by trained personnel only.

DX102-1-1

S2

/ C2 / A1 / R1

12V636821

926

MODEL

STYLE

SUFFIXNO.



3

1

23456

7
8

9

10 11 12

1315161718

19

21 22

24

25262728
29 30 31

32

33

34

35

36

37

38 39 40

41

42 43

44 45 46 47 48

Nov.2004 CMPL  DX100P-01E

23

23-b

23-a

20

14



CMPL Parts

Note:

Oct. 2006CMPL DX100P-01E

(select)
Mother Board Assembly (/H5    )B9967UB 1

(s
el

ec
t)

Slow AD(CU) Assembly (DX106P,112P /N1)1B9968QD
Fast 2AD(CU) Assembly (DX104P /N1)1B9968QF

Fast AD(CU) Assembly (DX102P /N1)1B9968QE

(select)
DC Power Board Assembly (/P1)1B9967TF

S-Sub Pow Board Assembly (/P1)1B9967UD

(select)
Power Bracket Cover (/P1)1B9967DW

(select)

24V-Power Assembly (/P1)1B9967DV

Name Plate (/P1)1B9967DY

Memory Board Assembly1   -15
Memory Board & Battery Assembly1   -14

(select)

(select)

(select)

Slow AD(PT) Assembly (DX106P,112P not /N1)
Fast 2AD(PT) Assembly (DX104P not /N1)
Fast AD(PT) Assembly (DX102P not /N1)

Knob

SW Lever
Roller
Stud
B.H.Screw,M3x8

SW Lever Assembly

Zip Conn Board Assembly

Screw (DX1     P-2)

Memory System (DX1     P-2)

Zip Drive Assembly (DX1     P-2)
Sheet

Zip Drive Assembly (DX1     P-2)
PC-Card Assembly
Screw
Socket

1

3

1

1
1

1
1
2
1

B9968SU
Zip Conn Board Assembly1B9967SU

Y9203LB

A1150UN

B9968GD
B9967DM

B9967GD

Screw (DX1     P-5)

Memory System (DX1     P-5)

Zip Drive Assembly (DX1     P-5)

Zip Drive Assembly (DX1     P-5)

6

1

1

1

Y9203LB

A1178UN

B9968HH

B9967GE

B9968SV
Y9208LB
A1492JS

46

45

44

43

41
40

QtyPart No.
B9968GL

Item
37 ATA Drive Assembly (DX1     P-3)

Description
1

Mother Board Assembly (not /H5    )
B.H.Screw,M3x4
B.H.Screw,M3x6 (/H5    )
Foot (/H5    )

Foot (/H5    )
F.H.Screw,M4x12 (/H5    )(add G9622AG)
Handle (/H5    )
Case Assembly (/H5    )

Power Bracket Base

Power Supply (not /P1)

S-Sub Pow Board Assembly (not/H5    ,/P1)

Gel Sheet (/C3)
Gel Sheet (not/C3)

COMM Board Assembly (not/C2,/C3)
COMM Board Assembly (/C3)
COMM Board Assembly (/C2)
COMM Board Bracket

1
2
4
2

2
2
1
1
1

1

1

1

1
1

1

2
1

1
1
1
1
1

1
1
1
1
1

1
1

1

1
1
1

1
1
1

1
1
1
1

1
2
2
2
1

B9967TB
Y9304LB
Y9306LS
B9961BR

B9961BS
Y9412ES
B9961BQ
B9967DP
B9967CL

B9967TP

B9967TD

B9967CW

B9967CV
B9967CU

B9967AD

B9968CZ
B9968CZ

B9968SQ
B9968TP
B9968TQ
B9967DC
B9967DD

B9967DB
B9967DA
A9069KY
B9968EM
B9900BR

B8702MP
B8702NP

B8700RA

B9968UY
B9968SE
B9968SY

B9968SC
B9968SB
B9968SA

B9968QA
B9968QC
B9968QB
B9967BQ

B9967CT
B9905CF
B9960MX
Y9308LB
B9967CS

8

QtyPart No.Item Description

(s
el

ec
t)

1
2
3
4
5

6
7

2ch Scanner Assembly (DX102P)

9
10

11
12
13

16
17
18
19

21

4ch Scanner Assembly (DX104P)
6ch Scanner Assembly (DX106P not /N1 /N2)

6ch Scanner Assembly (ISO)(DX106P /N1 /N2)
12ch Scanner Assembly (DX112P not /N1 /N2)
12ch Scanner Assembly (ISO)(DX112P /N1 /N2)

CPU Board Assembly

Memory Assembly
Name Plate

Battery Assembly
Rivet
Clamp

COMM Board Assembly (/C2)
COMM Board Assembly (/C3)

COMM Board Assembly (not/C2,/C3)
20

22

23-b

24

25

26

27

28
29
30
31
32

33
34
35
36

Power Bracket Cover (not /P1)

I-Power Assembly (/H5      and not /P1)
S-Power Assembly (not/H5     ,/P1)

Name Plate (not /P1)
1B9967AK23-a Name Plate

38
39

42

IDE Board Assembly1B9968ST47
IDE FFC1B9968MB48

(select)

B9967TE 1 I-Sub Pow Board Assembly (/H5     and not /P1) (select)

B8702TJ 1 CPU Board Assembly

B8702TA 1 Display Board Assembly

(select)

(select)

(select)

(select)

(DX1     P-2)
(DX1     P-5)

(select)

4



Qty

1

1

1
1
1

1
1

1

1

2
1

1

1
2

1
1
1

1
1
1
1
1

1

1

1

1
1
1
2

1

M
o

d
el

B
87

02
D

U

B
87

02
D

P

Qty

M
o

d
el

B
87

02
D

U

B
87

02
D

P

Connection Assembly (not /KB1,/KB2)
Connection Assembly (/KB1,/KB2)

Tapping Screw
IR Sensor Assembly

Tape1

1

2
1

B8702CU

B8702TE

B9931CF
B8702TC

25
1 FFC Conne to CPU1B8702CP26

24

17c
17b

Earth Bracket1B9967BW23

20
19

Display FFC1B9967MB
Hinge Arm2B9968BM

Part No.Item Description
17

18

B8702DQ

B9967BF

1

1

Sub Bezel Assembly

LCD Assembly

21 B9967BY 1 Stay Bracket
22 B9968EN 1 Bushing

LCD1A1053VA18a
18b B9967AQ 1 Name Plate
18c A1039VZ 1 Back Light Module

17a B8702DR 1 Bezel Assembly

B8702TG 1

11

B9967BZ10 Micro SW Pin1

12
13
14
15

16

B9967BU
B9967AY
B9967MA
B9967BT

B9967BX

2
1
1
1

1

Screw
Packing
Key FPC
FPC Guard

Rivet

B9967BK 1 Front Case

9 SW Board Assembly1B9967TC

Part No.
B9967BH

Item
1 Key Case Assembly

Description
1

2
3
4
5

6
7
8

B9967BN
B9567AQ
B9967BP
E9655AL

B9967BM
B9967BJ
B9967BL

1
1
1
1

1
1
1

Hinge Pin
Spring
Front Plate
Spring

Door Knob
Front Cover
Key Top

CMPL DX100P-01E

5

Mar.2002

23

25 17b 17c

22

21

18c

18

18a

18b

20

24

26

19

17

Bezel  Assembly

1

16

12
13
14
15

10

11

9
8
72 3 4 5 6

17a



6

Nov.2001CMPL  DX100P-01E

 7

25
19

20

23

26
24

21
22

18
17 16

15

1

2

3

6

4

5

8

9

10

13

11

12

14



(select)

*24/TPS2/R1/A1

Option Terminal Assembly*21
Option Terminal Assembly*18
Option Terminal Assembly*22
Option Terminal Assembly*23

Option Terminal Assembly*20,*24

1
1
1
1

1

B9968KY
B9968KX
B9968KW
B9968KV

B9968KU
Option Terminal Assembly*191B9968KT

Name Plate*21
Name Plate*18
Name Plate*22

Name Plate*23
Name Plate*20,*24

1
1
1

1
1

B9967FJ
B9967FK
B9968FP

B9967FN
B9967FL

Name Plate*191B9967FM

*23
*22
*21

*20
*19
*18
*17
*16

*15
*14

/R1

/R1

/AR1
/A1

/TPS4
/TPS4
/TPS2

/TPS2
/TPS2
/TPS2

/F1
/F1

/AR2
/AR1

/AR2
/AR1

Name Plate (/P1)1B9967DZ

26 B9968HE 1 Name Plate (/H5  and not /P1)

Name Plate (DX112P /H2 and /N1/N2)1B9968JP
Name Plate (DX112P /H2 and not /N1/N2)1B9968JN

Name Plate (DX106P /H2 and /N1/N2)1B9968JM
Name Plate (DX106P /H2 and not /N1/N2)1B9968JL
Name Plate (DX104P /H2)1B9968JJ

B9968JH 1 Name Plate (DX102P /H2)

Input Terminal Assembly (DX112P /H2 and /N1/N2)1B9968LX
Input Terminal Assembly (DX112P /H2 and not/N1/N2)1B9968LW
Input Terminal Assembly (DX106P /H2 and /N1/N2)1B9968LV
Input Terminal Assembly (DX106P /H2 and not /N1/N2)1B9968LU

B9968LT 1 Input Terminal Assembly (DX104P /H2)

Input Terminal Assembly (DX102P /H2)1B9968LS

(select)

*13
*12
*11
*10
*9
*8
*7
*6
*5
*4

*3
*2
*1

/F1

/R1
/R1
/R1
/R1
/R1
/R1
/R1

/F1
/F1

/F1
/F1
/F1

/A2
/A1

/A3
/A2
/A1

/A2
/A1

/A3
/A2
/A1

Model Code

DX1    P-   -

Suffix Code (options)

Name Plate*11
Name Plate*4

Name Plate*13,*17
Name Plate*6
Name Plate*12,*16
Name Plate*5
Name Plate*7

Name Plate*10
Name Plate*3
Name Plate*9,*15
Name Plate*2
Name Plate*8,*14

Conn Cover Assembly (not option)

Option Terminal Assembly*11
Option Terminal Assembly*4
Option Terminal Assembly*13,*17

Option Terminal Assembly*6
Option Terminal Assembly*12,*16
Option Terminal Assembly*5
Option Terminal Assembly*7
Option Terminal Assembly*10

Option Terminal Assembly*3
Option Terminal Assembly*9,*15
Option Terminal Assembly*2

Terminal
B.H.Screw,M3x8
Tapping Screw (not /C3)
RS-232 Bracket (/C2)
Blind Bracket (not /C2,/C3)

B.H.Screw,M3x5
Name Plate (/C3)
Name Plate (/C2)

1
1
1
1
1

1
1
1

B9968EE
Y9308LB
Y9305TS
B9968EJ
B9968EH

Y9305LB
B9968AH
B9968AG

24
23
22

21

20

QtyPart No.

B9968AJ

ItemItem

19 Sheet (not /C2,/C3)

Description

1

B.H.Screw,M3x8
COMM Term Board Assembly (not/C2,/C3)
COMM Term Board Assembly (/C3)
COMM Term Board Assembly (/C2)
Name Plate (/H5     and not /P1)

Power Plate (not /H5    )

Name Plate (not /H5    /P1)

Name Plate (DX112P /N1/N2 not /H2)

Name Plate (DX112P not /H2/N1/N2)
Name Plate (DX106P /N1/N2 not /H2)
Name Plate (DX106P not /H2/N1/N2)
Name Plate (DX104P not /H2)
Name Plate (DX102P not /H2)

Cover
Screw

Cover Assembly
Screw

Input Terminal Assembly (DX112P /N1/N2 not /H2)
Input Terminal Assembly (DX112P not/H2/N1/N2)
Input Terminal Assembly (DX106P /N1/N2 not /H2)
Input Terminal Assembly (DX106P not/H2/N1/N2)

Input Terminal Assembly (DX104P not /H2)
Input Terminal Assembly (DX102P not /H2)

Name Plate*1
Cover
Screw

Cover Assembly
Screw

Option Terminal Assembly*8,*14

2
1
1
1
1

1

1

1

1
1
1
1
1

1
2
1
2

1
1
1
1

1
1

1
1

1
1
1
1
1

1
1
1
1
1

1
1
2
1
2

1

1
1
1

1
1
1
1
1

1
1
1
1

Y9308LB
B9968RG
B9968RK
B9968RJ
B9967AF

B9968EG

B9967AE

B9967FF

B9967FB
B9967FE
B9967FA
B9968FV
B9967FD

B9968DG
B9900SG
B9968DF
B9968DJ

B9968LR
B9968LH
B9968LM
B9968LD

B9968LJ
B9968LL

B9968FN
B9968FM

B9968FL
B9968FK
B9968FJ
B9968FH
B9968FF

B9968FE
B9968FA
B9968EZ
B9968EY
B9968EX

B9968EW
B9968DG
B9900SG
B9968DF
B9968DJ

B9968DN

B9968KR
B9968KQ
B9968KP

B9968KN
B9968KM
B9968KL
B9968KK
B9968KJ

B9968KE
B9968KD
B9968KC
B9968KB

18

17
16

15

14

13

12
11
10
9

8

6
5
4
3
2

QtyPart No.
B9968KA1 Option Terminal Assembly*1

Description
1

(s
el

ec
t)

(select)

(select)

(select)

(s
el

ec
t)

(select)

7

25 A1447JZ 1 Modular Cover

Note:
CMPL Parts

Jan. 2007

7

CMPL DX100P-01E



CMPL parts

(select)

(select)

Fuse ( /P1)1A1352EF

CD-ROM for DAQSIGNIN1B9991MG13

Remote Controller ( /KB1)1B8702EA14
15 Battery ( /KB1)2A1070EB

17 Name Plate ( /KB1)1B8702AE
16 Name Plate ( /KB1)1B8702AD

CF32MB+CF Adapter (DX1      P-3)1B9968NL12

Mag Memory :Zip 100MB disk (DX1      P-2)1A1053MP11
B.H.Screw,M4x6(  )5E9655FX10

DX1       P- /H5R*5

(select)

9 B9900BX
  -

2
1

Bracket Assembly (not /H5    )
Manuals

Fuse (not /P1)1

1
1

A1347EF

A1024WD
A1023WD

8

7
6

5
4
3 A1009WD 1

3P-2P Adapter *11A1253JZ
1

Description

2
1

Item
A1006WD
Part No. Qty

Power Supply Code (UL.CSA standard) *1.*2

Power Supply Code (VDE standard) *3
Power Supply Code (BS standard) *4
Power Supply Code (AS standard) *5

1A1064WD Power Supply Code (GB standard) *6

DX1       P- /H5J
DX1       P- /H5F
DX1       P- /H5D

*4
*3
*2
*1

Note:
DX1       P- /H5M

DX1       P- /H5H*6

Mag Memory :Zip 250MB disk (DX1      P-5)1A1056MP

Nov. 2004CMPL  DX100P-01E

8
Standard  Accessories

1

2

3

4

5

6

7
15

13 14

16 17

9

8

10

11

12




